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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - II  
juk; - 11 tpQ;Qhdk; - I Gs;spj;jpl;lk; 

gFjp - I 

01) 4 

02) 3 

03) 3 

04) 3 

05) 3 

06) 3 

07) 1 

08) 1 

09) 2 

10) 4 

11) 1 

12) 1 

13) 1 

14) 4 

15) 3 

16) 1 

17) 2 

18) 3 

19) 2 

20) 2 

21) 3 

22) 2 

23) 3 

24) 4 

25) 3 

26) 4 

27) 1 

28) 3 

29) 2 

30) 1 

31) 2 

32) 1 

33) 4 

34) 3 

35) 3 

36) 4 

37) 2 

38) 2 

39) 1 

40) 4

 

gFjp - II (A) 

mikg;Gf; fl;Liu tpdhf;fs; 

01) (A) (i)  

 

 

 

 

 

   

  

(ii) jhtuq;fs; 

 (iii) 200 𝐽 

 (iv) jhtk; → ntl;Lf;fpsp → jtis → ghk;G 

   (nghUj;jkhd czTr; rq;fpyp xd;W) 

 (v) 4 

 (vi) jtis (nghUj;jkhd tpil) 

 

rf;jp (A+y;) 

Nghriz kl;lk; 

𝟓, 𝟎𝟎𝟎 

𝟏𝟎, 𝟎𝟎𝟎 

𝟏𝟓, 𝟎𝟎𝟎 

𝟐𝟎, 𝟎𝟎𝟎 

cw;gj;jp 
ahsu; 

Kjd;ik 
Efup 
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(B) (i) mnkupf;fh> ,e;jpah 

 (ii) VjhtJ nghUj;jkhd tpil 

  𝐸𝑔: − Kff; ftrk;> 1 𝑚 ,ilntsp> 𝐿𝑜𝑐𝑘 𝑑𝑜𝑤𝑛 

 (iii) 𝑃𝐶𝑅 (md;nl[d; 𝑇𝑒𝑠𝑡) 

 (iv) VjhtJ ,U Rfhjhu gof;fk; 

 

02) (A) (i) 𝐵 -  nfhjpePupy; mtpj;jy; 

  𝐷 - XLk; ePupy; fOTjy; 

 (ii) gr;irak; mfw;Wjy; 

 (iii) fUePyk; Njhd;Wk; 

 (iv) gpujhd tpisT - FSf;NfhR 

  gf;f tpisT  - 𝑂2 

 (v) 𝐶𝑂2  

(B) (i)  

Gd;dq;fk; Gd;dq;fj;jpd; ngau; gpujhd njhopy; 

𝑋 nfhy;fpr;rpf;fy; gjhu;j;jq;fs; 
Ruj;jy; flj;jy; 

𝑌 fU 

,ay;Gfs; re;jjpf;f 
flj;jy; / fyj;jpd; 
njhopw;ghLfs; 
fl;Lg;gLj;jy; 

𝑍 ,iokzp fyr; Rthrk; 

 
 (ii) fU> ,iokzp 

 (iii) epA+f;fpspf; mkpyk; 

 

03) (A) (i) Nghypq; mstpil 

 (ii) 𝑂 

 (iii) 𝑂𝑈 

 (iv) 𝑁, 𝑈 

 (v) 𝑄 

(B) (i) 𝐹𝑒2𝑂3 / Vkw;iww; 

 (ii) 1000℃ − 1900℃ 

 (iii) fw;fup> ,Uk;Gj;jhJ> 𝐶𝑎𝐶𝑂3 

 (iv) jho;j;jy; 

 (v) 𝐹𝑒2𝑂3 + 3𝐶𝑂 → 2𝐹𝑒 +  3𝐶𝑂2 
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04) (A)  

 

 

 

 

 

 

(B) (i)  5 𝑐𝑚 

 (ii) khakhdJ> nghUs; msT> epkpu;e;jJ> gf;f Neu;khwhdJ 

 

(C) (i) ,urg; ghukhdp 

 (ii) njhupnry;ypapd; ntw;wplk; 

 (iii) 𝐵 

 (iv) jput mlu;j;jp> jput cauk; / Mok;> GtpaPu;g;G Mu;KLfy; 
 

gFjp - II (B) 

fl;Liu tpdhf;fs; 

05) (A) (i) Ks;se;jz;Ls;sit Ks;se;jz;lw;wit 

 kPd;nfhj;jp tz;zj;Jg;g+r;rp 

 ePu;g;ghk;G mu ml;il 

 jtis  

 ePu;f;fhfk; 

 (ii) tha;f;Fop> Njhy;> Rthrg;ig 

 (iii) kPd;nfhj;jp> ePu;f;fhfk;  

 (iv) Mj;jpug;Nghlh 

 (v) rhjpg; ngau; - 𝑁𝑦𝑚𝑝ℎ𝑒𝑎 

  ,dg; ngau; - 𝑠𝑡𝑒𝑙𝑙𝑎𝑡𝑎 

 

(B) (i) 𝐴 / #yfk; 

 (ii) 𝐵> gNyhg;gpad; Foha; 

(iii) 𝐴 - #yfk; 

 𝐵 - gNyhg;gpad; Foha; 

 𝐶 - fUg;ig 

 𝐷 - Nahdptop 

 (iv) <];jpu[pd; / GNuhn[];jNuhd; 

,irf;fUtpfs; 

,iof;fUtpfs; 

1. vf;fhsk; 

2. jtpy; 

1. tPiz 

2. taypd; 

 

1. ehj];tuk; 

2. Gy;yhq;Foy; 

nfhl;lw; fUtp 

 (nghUj;jkhd (c+k;) 

fhw;Wf; fUtp 
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06) (A) (i) Cjh 

 (ii) A - Cjh 

  B - epwkw;wJ (tpiuthf epwkw;WtpLk;)  

 (iii) jhf;f tPjj;jpy; ntg;gepiy nry;thf;Fr; nrYj;Jk; 

 (iv) Nkw;gug;G> nrwpT> Cf;fp 
 

(B) (i) 𝐴 - nghwpKiw Ntwhf;fy; 

  𝐵 - Mtpahf;fy; 

  𝐶 - fiug;ghd; gpupj;njLg;G 

 (ii) fhgd; ehw; FNshiul; 

 (iii) cg;Gf; fiury; 
 

(C) (i) 𝐾 

 (ii) 𝐴𝑢 

 (iii) 𝐻𝑔 

 (iv) 𝐾, 𝑀𝑔, 𝐶𝑢, 𝐻𝑔, 𝐴𝑢 

 

07) (A) (i) 𝐴 - epA+l;ld; juhR 

 𝐵 - ANuf;fhf; fpz;zk; 

 (ii) 5 𝑁 

 (iii) 1 𝑁 

 (iv) 4 𝑁 

 (v) 4 𝑁 

 (vi) Mf;fpkpbrd; tpjp 

 (vii) 20 𝑚𝑙  

 (viii) ePupay; ahf;F> thfdk; cau;j;jy; 𝑒𝑡𝑐. 

 

(B) (i) A - jput Mok; $l mKf;fk; $Lk; 

  B - jputk; xNu kl;lj;jpy; cs;s Gs;spfspy; mKf;fk; rkd; 

  C - jput mKf;fk; ghj;jpu tbtpy; jq;fpapy;iy  

 (ii) rkd; 

 (iii) nrq;Fj;Jauk; rkd; 

 (iv) tspkz;ly mKf;fk; 

 (v) 𝑃 = ℎ𝜌𝑔 

   = 0.5 × 1250 × 10 

   = 6325 𝑃𝑎 
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08) (A) (i)  𝐴 - kfue;jf;$L 

 𝐵 - Fwp 

 𝐶 - my;yp 

 𝐷 - #yfk; 

 (ii) 𝐵, 𝐷 

 (iii) G+r;rp / tpyq;F 

 (iv) Mzfk;> ngz;zfk; fhzg;gLfpwJ. 

 
(B) (i) 𝐹 =   𝑚𝑔 

   =   10 × 10 = 100 𝑁  

 (ii) mOj;j rf;jp 

 (iii) 𝑂 

 (iv) 𝐹 × 𝑑 = 100 × 12 = 1200 𝑁𝑚 

 (v) tpir> nrq;F cauk; 

 

09) (A) (i) 𝐴 - Ks;spg;Gdy; 

 𝐵 - $k;GFLit 

 𝐶 - thAr;rhb 

 (ii) mkpyk; / 𝐻𝐶𝑙 

 (iii) 𝐶𝑂2 

 (iv) ePupd; fPo;Kf ngau;r;rp 

 (v) Ks;spg;Gdy; 𝐶𝑎𝐶𝑂3 ,Ds; mkpo;e;jpUf;f Ntz;Lk;. 

 (vi) jPaiz fUtp> xspj;njhFg;G> cyu; gdpf;fl;b jahupg;G 𝑒𝑡𝑐. 

 

(B) (i) 𝐴 - Ftpak; 

  𝐵 - tisT ikak; 

 (ii) 𝑃𝐵 = 2 𝑃𝐴 

 (iii) gLNfhzk; 𝑌 

  njwpNfhzk; 𝑋 

 (iv) jiyfpohdJ> cz;ik tpk;gk;> nghUs; msT 

 (v) Kfr;rtu Mb 

\  thfd gupNrhjid 𝑒𝑡𝑐. 


